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Before we start….

 Do you have the ALICE Masterclass files on your computer?

– If not, please copy them from USB stick to your local 
machine NOW!

– If you don’t have ALICE software on the system you are 
working on right now, please also install Virtualbox!

• For Windows & Mac there are Virtualbox installation files 
on the USB stick

• For Ubuntu try 

– sudo apt-get install virtualbox-*









Materials and Information

 Package you downloaded

– MasterClass-BNL-June-2016.pdf file – 54 slides explaining 
where to find information and help

 Masterclasses Web page: http://physicsmasterclasses.org/
 ALICE Masterclasses: 

http://alice.physicsmasterclasses.org/MasterClassWebpage.html  

http://physicsmasterclasses.org/
http://alice.physicsmasterclasses.org/MasterClassWebpage.html










Strangeness Enhancement

● TASK: compare number of strange 
particles produced in Pb-Pb to 
these in pp (approprietly 
normalized)

gg → ss







Best resource

Youtube tutorials
 Visual analysis:

https://www.youtube.com/watch?v=vzj9LRzs7VA

 Large scale analysis:
https://www.youtube.com/watch?v=eoBpAyOd2wM

https://www.youtube.com/watch?v=vzj9LRzs7VA
https://www.youtube.com/watch?v=eoBpAyOd2wM


















Dataset 18





We are looking for number of strange particles:
result (signal) = total - background 

We put results into
appropriate

cells

http://cern.ch/go/8ZLx



Results

               known          given measured        given                 calculated

Efficiency = Nparticles(measured)/Nparticles(produced)*

*assumption on efficiency values : to match yields in Analysis Note
Measurement of Ks and Λ spectra and yields in Pb–Pb collisions at √sNN=2.76 TeV with the ALICE experiment

Yield : number of particles produced per interaction
Yield = Nparticles(produced)/Nevents = Nparticles(measured)/(efficiency x Nevents)

Strangeness enhancement: the particle yield normalised by the number of participating nucleons in the 
collision, and divided by the yield in proton-proton collisions*

Ks-Yield (pp) = 0.25 /interaction ; Λ-Yield(pp) = 0.0617 /interaction ; <Npart> = 2 for pp

*pp yields at 2.76 TeV from interpolation between 900 GeV and 7 TeV  
Analysis Note “Ks, Λ and antiΛ production in pp collisions at 7 TeV”



How to keep track of results?

Online spreadsheet:

(students are divided into groups, and they 
should fill appropriate cell depending on their 
group number)

http://cern.ch/go/8ZLx
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